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What is the function of the ALU

Answer: It processes data and
instructions using the Arithmetic and
Logic parts.

Name three types of secondary
storage.

Answer: Magnetic storage, optical
storage, and solid-state storage.

What is the binary representation of
the hexadecimal number 99

The binary representation of the
hexadecimal number 99 is
10011001.

What is the selection statement that
runs one of many possible
instructions based on the condition
of a variable

CASE statement.

What is the difference between CD
and DVD

Answer: DVD has a higher storage
capacity than CD and can store
high-definition video.

What is the 8-bit binary
representation of the decimal
number 23

The 8-bit binary representation of
the decimal number 23 is 00010111.
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